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Section-A_(MCQ’s)
Q.1 Choose the correct answer for each for the given options:
(1) Osmo confromers animals Ilve In wovlrommnenl,

pH ofum I
(a)04 (b)05 (c) 08 (dyos
Twisting of elbrow oceurs due to the movementof _____ joint.

(a) Gliding Wivor (c) Sliding (d)Hinge
Partof human brain In inthe kang term memory.

(&) Hypathalmus pocsmpus  {¢)Madulla cblongsate (d)Amygdala

Syphllls is caused by: W
(a) Neisserla gonorrhoeas (b) Treponema pallidium '
(¢) Cutaneous leishmaniasis (d) Tinea saginata
Huitinglon's disesssw is due to an autosomal dominant allele on em)bnosomu
No: .
@2 (h)4 (0)f (d)A
Prolong bleeding Is due to deficiency of vitamin 445
(a)B A - (K (d)C
type of neuron is unmyelinated.
() Serory Neuron Motor Neuron (¢} Inter<Neuron () None of these

: Answer any TEN of the bl!cwlm guestions,

Distinguish batwean any one of the following.

(a) Ectotherms and Endo-therms (b) Oviparous and Viviparous
Why frash water fishes pass large quantity of dilute urine?

Why muscle undergeos oxygen debt during heavy exercise?

Enlist the different types of receptors ard their role.

Why Insight learing is called most developed form of learning behaviour?
What are the necssities of sexual reproduction?

What s Morula? Why s it named 50?

What s the role of vector in ganetic engineering?

Why CFC are consid harmful for the environment?

Dofine any TWO of the following:

(l)Acromaegaly (hscip (110) Imprinting (Iv) Deme
Enlist the objections on Darwin theary of Natura| ulocson

Define Acid Raln, Why is It harmful for the evnkomaent? '9/
Glve similarties in batwean Nervous and chemical Co-ordinat (/ b

ote: Answerany ONE of the following questions. &

Q.15{(a): Discuss the role of oytoplasm in development,

b)  Howtheory of special creation differs from the theory of orga nlcwuluuon?
Lumrtﬁnoryolorgmlcmldionandalwm!onobjecﬂonsomhmm

2. 18(a): Bolahﬁmmwsysmq\awmwnmmlem

b)  Define Skeleton, Descoby lhe funutions of Skeletun. Explain the deformities
human Skeleton, .




